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I)uration : 3 Hours
Note :-
1) All qucstions are compulsory.
2) Figures to the right indicate lull marl<s.

l. Solve any tlvo of the lbllowing questions

I )Explarn what rnflation is and write the types of inflation?

2)Wlite the etlect of price increase'?

3)Expiain the long rr-rn Phillips cur\/e'l

2. Solve any t$,o of the follorving questions

1)State the Qualitative instnunents of monetarv policy'i

2)Explain the lole of nlonetary policy in a cieveloping countly?

l)State the objectives of fiscal policy'?

3. Solve any two of the fbllou,ing questions

))Explain the IS equilibrium in the goocls market'/

2)Explain nlorley market equilibrium'7

3)Cdtically exarnine the importance of the IS and LM Model?

:1. Solve any two of the following rluestions

l)Det'rne Balanoe of payment and explain its structure?

2)State the types of balance of payments'?

3)State the instmnients of foreign exchange rnarket'/

5. Write Short notes (any trvo)

l)LM culve

2)Monetary policy

I )lrr tlrtion

,l)Fiscal Policy

100 Marks

20

(co-1, A)

(co-1, u)

(co-1, u)

20

(co-1, u)

(co-1, A)

(co-1, u)

20

(co-1, u)

(co-1, A)

(co-r, u)

20

(co-1, u)

(co-1, u)

(co-1. A)

.20
(co-1, R)

(co-1, A)

(co-1, u)

(co-r, u)

xxxxxxxxxxxxxxx


